



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024082

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:	
377	NA 008	F066101C	377-A-(203)T	103630	NAVAJO	NORTHEAST	5	Vian Rashid

Highway Termini	Location	Work Description
• HEBER-HOLBROOK HWY (SR 377)	• MP8-PHX PARK WASH, S OF DRY LA	• CONSTRUCT SHOULDERS & RUMBLE STRIPS

BID RESULTS FOR 2024082

Bid Opening Date : 11/14/2025, Prequalification Required, Engineer Specialist : Vian Rashid

Completion Date:

115 Working Days

The proposed project is located in Navajo County on SR 377 south of Dry Lake from milepost 8 to milepost 13. The works consists of widening the existing roadway pavement to accommodate shoulders in both Northbound and Southbound directions on State Route 377 and install centerline and edge line rumble strips. The work also includes paving turnouts, fog coat application on the existing travel lanes and new shoulder widening; install new pipe and pipe encasement, signing, pavement marking and other related work.

Bid Rank	Compared To Department Estimate	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$10,666,769.40	DEPARTMENT ESTIMATE	\$10,666,769.40
1	-20.7%		\$8,455,109.07	SEMA CONSTRUCTION, INC. 7353 S EAGLE STREET CENTENNIAL, CO 80112-	\$8,455,109.07
2	-19.1%		\$8,625,555.00	FANN CONTRACTING, INC PO BOX 4356 PRESCOTT, AZ 86302-	\$8,625,555.00
3	-13.9%		\$9,179,905.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$9,179,905.00
4	-12.2%		\$9,362,852.46	SHOW LOW CONSTRUCTION, INC. 1801 W. DEUCE OF CLUBS, SUITE 300 SHOW LOW, AZ 85901-	\$9,362,852.46
5	+3.9%		\$11,083,590.00	W. W. CLYDE & CO. 869 N. 1500 W. Orem, UT 84057-	\$11,083,590.00
6	+4.1%		\$11,105,850.00	J. BANICKI CONSTRUCTION, INC. 4720 E. Cotton Gin Loop, Suite 240 Phoenix, AZ 85040-	\$11,105,850.00

Winning Bidder is 20.7% Under Department Estimate (Difference = (\$2,211,660.33))

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020041	L.FT.	REMOVAL OF PIPE				
Bid Rank	Department Estimate		678.000	\$90.000	\$61,020.00	
1	SEMA CONSTRUCTION, INC.			\$39.830	\$27,004.74	-55.7%
2	FANN CONTRACTING, INC			\$55.000	\$37,290.00	-38.9%
3	GRANITE CONSTRUCTION COMPANY			\$54.000	\$36,612.00	-40.0%
4	SHOW LOW CONSTRUCTION, INC.			\$17.210	\$11,668.38	-80.9%
5	W. W. CLYDE & CO.			\$54.000	\$36,612.00	-40.0%
6	J. BANICKI CONSTRUCTION, INC.			\$55.500	\$37,629.00	-38.3%
2020045	CU.YD.	REMOVAL OF RIPRAP				
Bid Rank	Department Estimate		75.000	\$150.000	\$11,250.00	
1	SEMA CONSTRUCTION, INC.			\$102.570	\$7,692.75	-31.6%
2	FANN CONTRACTING, INC			\$95.000	\$7,125.00	-36.7%
3	GRANITE CONSTRUCTION COMPANY			\$114.000	\$8,550.00	-24.0%
4	SHOW LOW CONSTRUCTION, INC.			\$37.100	\$2,782.50	-75.3%
5	W. W. CLYDE & CO.			\$66.000	\$4,950.00	-56.0%
6	J. BANICKI CONSTRUCTION, INC.			\$160.000	\$12,000.00	+6.7%
2020053	EACH	REMOVE (SALVAGE EXISTING SIGN PANELS)				
Bid Rank	Department Estimate		14.000	\$250.000	\$3,500.00	
1	SEMA CONSTRUCTION, INC.			\$107.560	\$1,505.84	-57.0%
2	FANN CONTRACTING, INC			\$125.000	\$1,750.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$70.000	\$980.00	-72.0%
4	SHOW LOW CONSTRUCTION, INC.			\$135.620	\$1,898.68	-45.8%
5	W. W. CLYDE & CO.			\$123.000	\$1,722.00	-50.8%
6	J. BANICKI CONSTRUCTION, INC.			\$132.000	\$1,848.00	-47.2%
2020054	EACH	REMOVE (PIPE END SECTION)				
Bid Rank	Department Estimate		10.000	\$500.000	\$5,000.00	
1	SEMA CONSTRUCTION, INC.			\$611.820	\$6,118.20	+22.4%
2	FANN CONTRACTING, INC			\$400.000	\$4,000.00	-20.0%
3	GRANITE CONSTRUCTION COMPANY			\$458.000	\$4,580.00	-8.4%
4	SHOW LOW CONSTRUCTION, INC.			\$411.960	\$4,119.60	-17.6%
5	W. W. CLYDE & CO.			\$106.000	\$1,060.00	-78.8%
6	J. BANICKI CONSTRUCTION, INC.			\$1,193.000	\$11,930.00	+138.6%
2020116	EACH	REMOVE (DELINEATOR ASSEMBLY WITH/WITHOUT CONCRETE FOUNDATION)				
Bid Rank	Department Estimate		60.000	\$100.000	\$6,000.00	
1	SEMA CONSTRUCTION, INC.			\$45.230	\$2,713.80	-54.8%
2	FANN CONTRACTING, INC			\$52.000	\$3,120.00	-48.0%
3	GRANITE CONSTRUCTION COMPANY			\$53.000	\$3,180.00	-47.0%
4	SHOW LOW CONSTRUCTION, INC.			\$57.020	\$3,421.20	-43.0%
5	W. W. CLYDE & CO.			\$70.000	\$4,200.00	-30.0%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020116	EACH	REMOVE (DELINATEATOR ASSEMBLY WITH/WITHOUT CONCRETE FOUNDATION)				
Bid Rank	Department Estimate		60.000	\$100.000	\$6,000.00	
6	J. BANICKI CONSTRUCTION, INC.			\$56.000	\$3,360.00	-44.0%
2020118	EACH	REMOVE (SIGNS, POSTS & FOUNDATIONS)				
Bid Rank	Department Estimate		38.000	\$200.000	\$7,600.00	
1	SEMA CONSTRUCTION, INC.			\$82.740	\$3,144.12	-58.6%
2	FANN CONTRACTING, INC			\$95.000	\$3,610.00	-52.5%
3	GRANITE CONSTRUCTION COMPANY			\$161.000	\$6,118.00	-19.5%
4	SHOW LOW CONSTRUCTION, INC.			\$192.000	\$7,296.00	-4.0%
5	W. W. CLYDE & CO.			\$95.000	\$3,610.00	-52.5%
6	J. BANICKI CONSTRUCTION, INC.			\$102.000	\$3,876.00	-49.0%
2020365	L.FT.	REMOVE LEAD-BASED STRIPING				
Bid Rank	Department Estimate		23,500.000	\$6.500	\$152,750.00	
1	SEMA CONSTRUCTION, INC.			\$8.120	\$190,820.00	+24.9%
2	FANN CONTRACTING, INC			\$10.000	\$235,000.00	+53.8%
3	GRANITE CONSTRUCTION COMPANY			\$8.500	\$199,750.00	+30.8%
4	SHOW LOW CONSTRUCTION, INC.			\$19.870	\$466,945.00	+205.7%
5	W. W. CLYDE & CO.			\$2.350	\$55,225.00	-63.8%
6	J. BANICKI CONSTRUCTION, INC.			\$21.200	\$498,200.00	+226.2%
2020370	L.SUM	DISPOSE OF LEAD-BASED PAINT MATERIALS (FORCE ACCOUNT)				
Bid Rank	Department Estimate		1.000	\$15,000.000	\$15,000.00	
1	SEMA CONSTRUCTION, INC.			\$15,000.000	\$15,000.00	+0.0%
2	FANN CONTRACTING, INC			\$15,000.000	\$15,000.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$15,000.000	\$15,000.00	+0.0%
4	SHOW LOW CONSTRUCTION, INC.			\$15,000.000	\$15,000.00	+0.0%
5	W. W. CLYDE & CO.			\$15,000.000	\$15,000.00	+0.0%
6	J. BANICKI CONSTRUCTION, INC.			\$15,000.000	\$15,000.00	+0.0%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department Estimate		74,166.000	\$25.000	\$1,854,150.00	
1	SEMA CONSTRUCTION, INC.			\$24.790	\$1,838,575.14	-0.8%
2	FANN CONTRACTING, INC			\$27.000	\$2,002,482.00	+8.0%
3	GRANITE CONSTRUCTION COMPANY			\$21.250	\$1,576,027.50	-15.0%
4	SHOW LOW CONSTRUCTION, INC.			\$23.420	\$1,736,967.72	-6.3%
5	W. W. CLYDE & CO.			\$28.000	\$2,076,648.00	+12.0%
6	J. BANICKI CONSTRUCTION, INC.			\$30.250	\$2,243,521.50	+21.0%
2030302	CU.YD.	ROADWAY EXCAVATION (OVER-EXCAVATION)				
Bid Rank	Department Estimate		24,226.000	\$30.000	\$726,780.00	
1	SEMA CONSTRUCTION, INC.			\$7.740	\$187,509.24	-74.2%
2	FANN CONTRACTING, INC			\$8.000	\$193,808.00	-73.3%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2030302	CU.YD.	ROADWAY EXCAVATION (OVER-EXCAVATION)				
Bid Rank	Department Estimate		24,226.000	\$30.000	\$726,780.00	
3	GRANITE CONSTRUCTION COMPANY			\$18.000	\$436,068.00	-40.0%
4	SHOW LOW CONSTRUCTION, INC.			\$27.790	\$673,240.54	-7.4%
5	W. W. CLYDE & CO.			\$38.000	\$920,588.00	+26.7%
6	J. BANICKI CONSTRUCTION, INC.			\$7.650	\$185,328.90	-74.5%
2030401	CU.YD.	DRAINAGE EXCAVATION				
Bid Rank	Department Estimate		24.000	\$335.000	\$8,040.00	
1	SEMA CONSTRUCTION, INC.			\$85.070	\$2,041.68	-74.6%
2	FANN CONTRACTING, INC			\$80.000	\$1,920.00	-76.1%
3	GRANITE CONSTRUCTION COMPANY			\$100.000	\$2,400.00	-70.1%
4	SHOW LOW CONSTRUCTION, INC.			\$73.050	\$1,753.20	-78.2%
5	W. W. CLYDE & CO.			\$104.000	\$2,496.00	-69.0%
6	J. BANICKI CONSTRUCTION, INC.			\$445.000	\$10,680.00	+32.8%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department Estimate		14,717.000	\$90.000	\$1,324,530.00	
1	SEMA CONSTRUCTION, INC.			\$73.280	\$1,078,461.76	-18.6%
2	FANN CONTRACTING, INC			\$59.000	\$868,303.00	-34.4%
3	GRANITE CONSTRUCTION COMPANY			\$90.000	\$1,324,530.00	+0.0%
4	SHOW LOW CONSTRUCTION, INC.			\$62.710	\$922,903.07	-30.3%
5	W. W. CLYDE & CO.			\$72.000	\$1,059,624.00	-20.0%
6	J. BANICKI CONSTRUCTION, INC.			\$82.000	\$1,206,794.00	-8.9%
4040125	TON	FOG COAT				
Bid Rank	Department Estimate		37.000	\$750.000	\$27,750.00	
1	SEMA CONSTRUCTION, INC.			\$812.180	\$30,050.66	+8.3%
2	FANN CONTRACTING, INC			\$625.000	\$23,125.00	-16.7%
3	GRANITE CONSTRUCTION COMPANY			\$600.000	\$22,200.00	-20.0%
4	SHOW LOW CONSTRUCTION, INC.			\$1,276.000	\$47,212.00	+70.1%
5	W. W. CLYDE & CO.			\$1,356.000	\$50,172.00	+80.8%
6	J. BANICKI CONSTRUCTION, INC.			\$997.000	\$36,889.00	+32.9%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department Estimate		115,922.000	\$0.200	\$23,184.40	
1	SEMA CONSTRUCTION, INC.			\$0.030	\$3,477.66	-85.0%
2	FANN CONTRACTING, INC			\$0.120	\$13,910.64	-40.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.150	\$17,388.30	-25.0%
4	SHOW LOW CONSTRUCTION, INC.			\$0.350	\$40,572.70	+75.0%
5	W. W. CLYDE & CO.			\$0.050	\$5,796.10	-75.0%
6	J. BANICKI CONSTRUCTION, INC.			\$0.050	\$5,796.10	-75.0%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4090006	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (SPECIAL MIX)				
Bid Rank	Department Estimate		8,889.000	\$175.000	\$1,555,575.00	
1	SEMA CONSTRUCTION, INC.			\$164.470	\$1,461,973.83	-6.0%
2	FANN CONTRACTING, INC			\$140.000	\$1,244,460.00	-20.0%
3	GRANITE CONSTRUCTION COMPANY			\$230.000	\$2,044,470.00	+31.4%
4	SHOW LOW CONSTRUCTION, INC.			\$177.360	\$1,576,553.04	+1.3%
5	W. W. CLYDE & CO.			\$178.000	\$1,582,242.00	+1.7%
6	J. BANICKI CONSTRUCTION, INC.			\$213.000	\$1,893,357.00	+21.7%
5012936	L.FT.	PIPE CULVERT, 36"				
Bid Rank	Department Estimate		110.000	\$300.000	\$33,000.00	
1	SEMA CONSTRUCTION, INC.			\$221.820	\$24,400.20	-26.1%
2	FANN CONTRACTING, INC			\$385.000	\$42,350.00	+28.3%
3	GRANITE CONSTRUCTION COMPANY			\$201.500	\$22,165.00	-32.8%
4	SHOW LOW CONSTRUCTION, INC.			\$205.840	\$22,642.40	-31.4%
5	W. W. CLYDE & CO.			\$350.000	\$38,500.00	+16.7%
6	J. BANICKI CONSTRUCTION, INC.			\$285.000	\$31,350.00	-5.0%
5013028	L.FT.	PIPE CULVERT (28" x 20")				
Bid Rank	Department Estimate		513.000	\$300.000	\$153,900.00	
1	SEMA CONSTRUCTION, INC.			\$139.750	\$71,691.75	-53.4%
2	FANN CONTRACTING, INC			\$229.000	\$117,477.00	-23.7%
3	GRANITE CONSTRUCTION COMPANY			\$219.000	\$112,347.00	-27.0%
4	SHOW LOW CONSTRUCTION, INC.			\$197.020	\$101,071.26	-34.3%
5	W. W. CLYDE & CO.			\$457.000	\$234,441.00	+52.3%
6	J. BANICKI CONSTRUCTION, INC.			\$220.000	\$112,860.00	-26.7%
5014036	EACH	FLARED END SECTION, 36" (C-13.25)				
Bid Rank	Department Estimate		2.000	\$3,500.000	\$7,000.00	
1	SEMA CONSTRUCTION, INC.			\$1,435.680	\$2,871.36	-59.0%
2	FANN CONTRACTING, INC			\$1,500.000	\$3,000.00	-57.1%
3	GRANITE CONSTRUCTION COMPANY			\$1,256.250	\$2,512.50	-64.1%
4	SHOW LOW CONSTRUCTION, INC.			\$2,048.650	\$4,097.30	-41.5%
5	W. W. CLYDE & CO.			\$2,513.000	\$5,026.00	-28.2%
6	J. BANICKI CONSTRUCTION, INC.			\$1,888.000	\$3,776.00	-46.1%
5014249	EACH	FLARED END SECTION, 49" X 33" (C-13.25)				
Bid Rank	Department Estimate		10.000	\$3,000.000	\$30,000.00	
1	SEMA CONSTRUCTION, INC.			\$2,036.060	\$20,360.60	-32.1%
2	FANN CONTRACTING, INC			\$2,025.000	\$20,250.00	-32.5%
3	GRANITE CONSTRUCTION COMPANY			\$1,639.000	\$16,390.00	-45.4%
4	SHOW LOW CONSTRUCTION, INC.			\$1,870.020	\$18,700.20	-37.7%
5	W. W. CLYDE & CO.			\$2,965.000	\$29,650.00	-1.2%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
5014249	EACH	FLARED END SECTION, 49" X 33" (C-13.25)				
Bid Rank	Department Estimate		10.000	\$3,000.000	\$30,000.00	
6	J. BANICKI CONSTRUCTION, INC.			\$2,423.000	\$24,230.00	-19.2%
5014699	EACH	METAL SAFETY END SECTION (28" X 20")				
Bid Rank	Department Estimate		18.000	\$3,500.000	\$63,000.00	
1	SEMA CONSTRUCTION, INC.			\$3,068.910	\$55,240.38	-12.3%
2	FANN CONTRACTING, INC			\$2,750.000	\$49,500.00	-21.4%
3	GRANITE CONSTRUCTION COMPANY			\$2,288.000	\$41,184.00	-34.6%
4	SHOW LOW CONSTRUCTION, INC.			\$2,201.410	\$39,625.38	-37.1%
5	W. W. CLYDE & CO.			\$3,399.000	\$61,182.00	-2.9%
6	J. BANICKI CONSTRUCTION, INC.			\$2,949.000	\$53,082.00	-15.7%
5019007	L.FT.	PIPE (CULVERT, 49" x 33")				
Bid Rank	Department Estimate		476.000	\$550.000	\$261,800.00	
1	SEMA CONSTRUCTION, INC.			\$139.590	\$66,444.84	-74.6%
2	FANN CONTRACTING, INC			\$300.000	\$142,800.00	-45.5%
3	GRANITE CONSTRUCTION COMPANY			\$226.250	\$107,695.00	-58.9%
4	SHOW LOW CONSTRUCTION, INC.			\$226.830	\$107,971.08	-58.8%
5	W. W. CLYDE & CO.			\$441.000	\$209,916.00	-19.8%
6	J. BANICKI CONSTRUCTION, INC.			\$305.000	\$145,180.00	-44.5%
6010004	CU.YD.	STRUCTURAL CONCRETE (CLASS S) (F'C = 4,000)				
Bid Rank	Department Estimate		146.000	\$1,600.000	\$233,600.00	
1	SEMA CONSTRUCTION, INC.			\$721.450	\$105,331.70	-54.9%
2	FANN CONTRACTING, INC			\$400.000	\$58,400.00	-75.0%
3	GRANITE CONSTRUCTION COMPANY			\$276.250	\$40,332.50	-82.7%
4	SHOW LOW CONSTRUCTION, INC.			\$277.410	\$40,501.86	-82.7%
5	W. W. CLYDE & CO.			\$448.000	\$65,408.00	-72.0%
6	J. BANICKI CONSTRUCTION, INC.			\$533.000	\$77,818.00	-66.7%
6070038	EACH	SLIP BASE				
Bid Rank	Department Estimate		45.000	\$400.000	\$18,000.00	
1	SEMA CONSTRUCTION, INC.			\$185.430	\$8,344.35	-53.6%
2	FANN CONTRACTING, INC			\$200.000	\$9,000.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$219.000	\$9,855.00	-45.3%
4	SHOW LOW CONSTRUCTION, INC.			\$233.790	\$10,520.55	-41.6%
5	W. W. CLYDE & CO.			\$213.000	\$9,585.00	-46.8%
6	J. BANICKI CONSTRUCTION, INC.			\$227.000	\$10,215.00	-43.3%
6070055	L.FT.	SIGN POST (PERFORATED) (2 1/2 S)				
Bid Rank	Department Estimate		575.000	\$25.000	\$14,375.00	
1	SEMA CONSTRUCTION, INC.			\$17.210	\$9,895.75	-31.2%
2	FANN CONTRACTING, INC			\$19.000	\$10,925.00	-24.0%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6070055	L.FT.	SIGN POST (PERFORATED) (2 1/2 S)				
Bid Rank	Department Estimate		575.000	\$25.000	\$14,375.00	
3	GRANITE CONSTRUCTION COMPANY			\$10.250	\$5,893.75	-59.0%
4	SHOW LOW CONSTRUCTION, INC.			\$21.700	\$12,477.50	-13.2%
5	W. W. CLYDE & CO.			\$20.000	\$11,500.00	-20.0%
6	J. BANICKI CONSTRUCTION, INC.			\$21.000	\$12,075.00	-16.0%
6070057	L.FT.	SIGN POST (PERFORATED) (2 1/2 T)				
Bid Rank	Department Estimate		100.000	\$40.000	\$4,000.00	
1	SEMA CONSTRUCTION, INC.			\$23.760	\$2,376.00	-40.6%
2	FANN CONTRACTING, INC			\$26.500	\$2,650.00	-33.8%
3	GRANITE CONSTRUCTION COMPANY			\$15.500	\$1,550.00	-61.3%
4	SHOW LOW CONSTRUCTION, INC.			\$29.950	\$2,995.00	-25.1%
5	W. W. CLYDE & CO.			\$27.000	\$2,700.00	-32.5%
6	J. BANICKI CONSTRUCTION, INC.			\$29.000	\$2,900.00	-27.5%
6070060	EACH	FOUNDATION FOR SIGN POST (CONCRETE)				
Bid Rank	Department Estimate		55.000	\$460.000	\$25,300.00	
1	SEMA CONSTRUCTION, INC.			\$504.310	\$27,737.05	+9.6%
2	FANN CONTRACTING, INC			\$525.000	\$28,875.00	+14.1%
3	GRANITE CONSTRUCTION COMPANY			\$187.000	\$10,285.00	-59.3%
4	SHOW LOW CONSTRUCTION, INC.			\$601.280	\$33,070.40	+30.7%
5	W. W. CLYDE & CO.			\$547.000	\$30,085.00	+18.9%
6	J. BANICKI CONSTRUCTION, INC.			\$585.000	\$32,175.00	+27.2%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		325.000	\$30.000	\$9,750.00	
1	SEMA CONSTRUCTION, INC.			\$28.220	\$9,171.50	-5.9%
2	FANN CONTRACTING, INC			\$30.000	\$9,750.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$15.500	\$5,037.50	-48.3%
4	SHOW LOW CONSTRUCTION, INC.			\$35.580	\$11,563.50	+18.6%
5	W. W. CLYDE & CO.			\$32.000	\$10,400.00	+6.7%
6	J. BANICKI CONSTRUCTION, INC.			\$35.000	\$11,375.00	+16.7%
6080025	SQ.FT.	FLAT SHEET ALUMINUM SIGN PANEL				
Bid Rank	Department Estimate		60.000	\$45.000	\$2,700.00	
1	SEMA CONSTRUCTION, INC.			\$41.980	\$2,518.80	-6.7%
2	FANN CONTRACTING, INC			\$47.000	\$2,820.00	+4.4%
3	GRANITE CONSTRUCTION COMPANY			\$18.250	\$1,095.00	-59.4%
4	SHOW LOW CONSTRUCTION, INC.			\$52.930	\$3,175.80	+17.6%
5	W. W. CLYDE & CO.			\$48.000	\$2,880.00	+6.7%
6	J. BANICKI CONSTRUCTION, INC.			\$51.000	\$3,060.00	+13.3%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6080105	L.SUM	RELOCATE SIGNS				
Bid Rank	Department Estimate		1.000	\$500.000	\$500.00	
1	SEMA CONSTRUCTION, INC.			\$114.670	\$114.67	-77.1%
2	FANN CONTRACTING, INC			\$130.000	\$130.00	-74.0%
3	GRANITE CONSTRUCTION COMPANY			\$4,006.000	\$4,006.00	+701.2%
4	SHOW LOW CONSTRUCTION, INC.			\$144.580	\$144.58	-71.1%
5	W. W. CLYDE & CO.			\$131.000	\$131.00	-73.8%
6	J. BANICKI CONSTRUCTION, INC.			\$140.000	\$140.00	-72.0%
7010025	EACH	TEMPORARY IMPACT ATTENUATION DEVICE (IN-LINE ENERGY ABSORBING TERM.)				
Bid Rank	Department Estimate		14.000	\$3,300.000	\$46,200.00	
1	SEMA CONSTRUCTION, INC.			\$2,900.660	\$40,609.24	-12.1%
2	FANN CONTRACTING, INC			\$3,300.000	\$46,200.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$1,257.000	\$17,598.00	-61.9%
4	SHOW LOW CONSTRUCTION, INC.			\$4,698.000	\$65,772.00	+42.4%
5	W. W. CLYDE & CO.			\$3,879.000	\$54,306.00	+17.5%
6	J. BANICKI CONSTRUCTION, INC.			\$5,480.000	\$76,720.00	+66.1%
7010026	EACH-DAY	TEMPORARY IMPACT ATTENUTATION DEVICE (IN-LINE ENERGY ABSORBING TERM.) (IN USE)				
Bid Rank	Department Estimate		675.000	\$40.000	\$27,000.00	
1	SEMA CONSTRUCTION, INC.			\$35.530	\$23,982.75	-11.2%
2	FANN CONTRACTING, INC			\$40.000	\$27,000.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$34.500	\$23,287.50	-13.8%
4	SHOW LOW CONSTRUCTION, INC.			\$40.600	\$27,405.00	+1.5%
5	W. W. CLYDE & CO.			\$40.000	\$27,000.00	+0.0%
6	J. BANICKI CONSTRUCTION, INC.			\$48.000	\$32,400.00	+20.0%
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		39,100.000	\$18.000	\$703,800.00	
1	SEMA CONSTRUCTION, INC.			\$21.650	\$846,515.00	+20.3%
2	FANN CONTRACTING, INC			\$24.500	\$957,950.00	+36.1%
3	GRANITE CONSTRUCTION COMPANY			\$14.250	\$557,175.00	-20.8%
4	SHOW LOW CONSTRUCTION, INC.			\$15.000	\$586,500.00	-16.7%
5	W. W. CLYDE & CO.			\$42.000	\$1,642,200.00	+133.3%
6	J. BANICKI CONSTRUCTION, INC.			\$52.000	\$2,033,200.00	+188.9%
7015052	L.FT.	OBLITERATE PAVEMENT MARKING (STRIPE)				
Bid Rank	Department Estimate		46,650.000	\$1.500	\$69,975.00	
1	SEMA CONSTRUCTION, INC.			\$0.300	\$13,995.00	-80.0%
2	FANN CONTRACTING, INC			\$0.400	\$18,660.00	-73.3%
3	GRANITE CONSTRUCTION COMPANY			\$0.410	\$19,126.50	-72.7%
4	SHOW LOW CONSTRUCTION, INC.			\$0.410	\$19,126.50	-72.7%
5	W. W. CLYDE & CO.			\$0.350	\$16,327.50	-76.7%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7015052	L.FT.	OBLITERATE PAVEMENT MARKING (STRIPE)				
Bid Rank	Department Estimate		46,650.000	\$1.500	\$69,975.00	
6	J. BANICKI CONSTRUCTION, INC.			\$0.450	\$20,992.50	-70.0%
7015069	EACH	TEMPORARY PAVEMENT MARKERS (CHIP SEAL)				
Bid Rank	Department Estimate		1,050.000	\$3.000	\$3,150.00	
1	SEMA CONSTRUCTION, INC.			\$2.000	\$2,100.00	-33.3%
2	FANN CONTRACTING, INC			\$3.250	\$3,412.50	+8.3%
3	GRANITE CONSTRUCTION COMPANY			\$4.000	\$4,200.00	+33.3%
4	SHOW LOW CONSTRUCTION, INC.			\$6.960	\$7,308.00	+132.0%
5	W. W. CLYDE & CO.			\$2.050	\$2,152.50	-31.7%
6	J. BANICKI CONSTRUCTION, INC.			\$6.250	\$6,562.50	+108.3%
7015091	SQ.FT.	SPECIALTY SIGNS				
Bid Rank	Department Estimate		50.000	\$40.000	\$2,000.00	
1	SEMA CONSTRUCTION, INC.			\$18.400	\$920.00	-54.0%
2	FANN CONTRACTING, INC			\$20.000	\$1,000.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$21.000	\$1,050.00	-47.5%
4	SHOW LOW CONSTRUCTION, INC.			\$20.880	\$1,044.00	-47.8%
5	W. W. CLYDE & CO.			\$29.000	\$1,450.00	-27.5%
6	J. BANICKI CONSTRUCTION, INC.			\$22.500	\$1,125.00	-43.8%
7016020	L.FT.-DAY	TEMPORARY CONCRETE BARRIER (IN USE)				
Bid Rank	Department Estimate		306,500.000	\$0.120	\$36,780.00	
1	SEMA CONSTRUCTION, INC.			\$0.100	\$30,650.00	-16.7%
2	FANN CONTRACTING, INC			\$0.110	\$33,715.00	-8.3%
3	GRANITE CONSTRUCTION COMPANY			\$0.090	\$27,585.00	-25.0%
4	SHOW LOW CONSTRUCTION, INC.			\$0.120	\$36,780.00	+0.0%
5	W. W. CLYDE & CO.			\$0.110	\$33,715.00	-8.3%
6	J. BANICKI CONSTRUCTION, INC.			\$0.150	\$45,975.00	+25.0%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		49,000.000	\$0.500	\$24,500.00	
1	SEMA CONSTRUCTION, INC.			\$0.260	\$12,740.00	-48.0%
2	FANN CONTRACTING, INC			\$0.200	\$9,800.00	-60.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.290	\$14,210.00	-42.0%
4	SHOW LOW CONSTRUCTION, INC.			\$0.590	\$28,910.00	+18.0%
5	W. W. CLYDE & CO.			\$1.250	\$61,250.00	+150.0%
6	J. BANICKI CONSTRUCTION, INC.			\$0.300	\$14,700.00	-40.0%
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE)				
Bid Rank	Department Estimate		150.000	\$0.500	\$75.00	
1	SEMA CONSTRUCTION, INC.			\$0.260	\$39.00	-48.0%
2	FANN CONTRACTING, INC			\$0.850	\$127.50	+70.0%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE)				
Bid Rank	Department Estimate		150.000	\$0.500	\$75.00	
3	GRANITE CONSTRUCTION COMPANY			\$0.860	\$129.00	+72.0%
4	SHOW LOW CONSTRUCTION, INC.			\$1.910	\$286.50	+282.0%
5	W. W. CLYDE & CO.			\$3.500	\$525.00	+600.0%
6	J. BANICKI CONSTRUCTION, INC.			\$1.000	\$150.00	+100.0%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank	Department Estimate		150.000	\$3.000	\$450.00	
1	SEMA CONSTRUCTION, INC.			\$0.770	\$115.50	-74.3%
2	FANN CONTRACTING, INC			\$0.600	\$90.00	-80.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.860	\$129.00	-71.3%
4	SHOW LOW CONSTRUCTION, INC.			\$1.470	\$220.50	-51.0%
5	W. W. CLYDE & CO.			\$1.000	\$150.00	-66.7%
6	J. BANICKI CONSTRUCTION, INC.			\$1.000	\$150.00	-66.7%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		1,650.000	\$2.000	\$3,300.00	
1	SEMA CONSTRUCTION, INC.			\$2.040	\$3,366.00	+2.0%
2	FANN CONTRACTING, INC			\$0.850	\$1,402.50	-57.5%
3	GRANITE CONSTRUCTION COMPANY			\$2.300	\$3,795.00	+15.0%
4	SHOW LOW CONSTRUCTION, INC.			\$2.220	\$3,663.00	+11.0%
5	W. W. CLYDE & CO.			\$2.000	\$3,300.00	+0.0%
6	J. BANICKI CONSTRUCTION, INC.			\$2.000	\$3,300.00	+0.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		3,000.000	\$0.750	\$2,250.00	
1	SEMA CONSTRUCTION, INC.			\$0.100	\$300.00	-86.7%
2	FANN CONTRACTING, INC			\$0.130	\$390.00	-82.7%
3	GRANITE CONSTRUCTION COMPANY			\$0.110	\$330.00	-85.3%
4	SHOW LOW CONSTRUCTION, INC.			\$0.300	\$900.00	-60.0%
5	W. W. CLYDE & CO.			\$0.750	\$2,250.00	+0.0%
6	J. BANICKI CONSTRUCTION, INC.			\$0.110	\$330.00	-85.3%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		49,000.000	\$0.350	\$17,150.00	
1	SEMA CONSTRUCTION, INC.			\$0.100	\$4,900.00	-71.4%
2	FANN CONTRACTING, INC			\$0.130	\$6,370.00	-62.9%
3	GRANITE CONSTRUCTION COMPANY			\$0.110	\$5,390.00	-68.6%
4	SHOW LOW CONSTRUCTION, INC.			\$0.300	\$14,700.00	-14.3%
5	W. W. CLYDE & CO.			\$0.800	\$39,200.00	+128.6%
6	J. BANICKI CONSTRUCTION, INC.			\$0.110	\$5,390.00	-68.6%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016039	EACH-DAY	EMBEDDED SIGN POST				
Bid Rank	Department Estimate		3,100.000	\$2.000	\$6,200.00	
1	SEMA CONSTRUCTION, INC.			\$0.770	\$2,387.00	-61.5%
2	FANN CONTRACTING, INC			\$0.300	\$930.00	-85.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.860	\$2,666.00	-57.0%
4	SHOW LOW CONSTRUCTION, INC.			\$0.890	\$2,759.00	-55.5%
5	W. W. CLYDE & CO.			\$0.950	\$2,945.00	-52.5%
6	J. BANICKI CONSTRUCTION, INC.			\$1.050	\$3,255.00	-47.5%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		150.000	\$800.000	\$120,000.00	
1	SEMA CONSTRUCTION, INC.			\$255.520	\$38,328.00	-68.1%
2	FANN CONTRACTING, INC			\$375.000	\$56,250.00	-53.1%
3	GRANITE CONSTRUCTION COMPANY			\$1,035.000	\$155,250.00	+29.4%
4	SHOW LOW CONSTRUCTION, INC.			\$754.000	\$113,100.00	-5.8%
5	W. W. CLYDE & CO.			\$765.000	\$114,750.00	-4.4%
6	J. BANICKI CONSTRUCTION, INC.			\$340.000	\$51,000.00	-57.5%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		800.000	\$0.800	\$640.00	
1	SEMA CONSTRUCTION, INC.			\$0.770	\$616.00	-3.8%
2	FANN CONTRACTING, INC			\$0.600	\$480.00	-25.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.860	\$688.00	+7.5%
4	SHOW LOW CONSTRUCTION, INC.			\$1.620	\$1,296.00	+102.5%
5	W. W. CLYDE & CO.			\$1.700	\$1,360.00	+112.5%
6	J. BANICKI CONSTRUCTION, INC.			\$0.700	\$560.00	-12.5%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		3,250.000	\$0.900	\$2,925.00	
1	SEMA CONSTRUCTION, INC.			\$0.770	\$2,502.50	-14.4%
2	FANN CONTRACTING, INC			\$0.850	\$2,762.50	-5.6%
3	GRANITE CONSTRUCTION COMPANY			\$0.860	\$2,795.00	-4.4%
4	SHOW LOW CONSTRUCTION, INC.			\$2.220	\$7,215.00	+146.7%
5	W. W. CLYDE & CO.			\$1.900	\$6,175.00	+111.1%
6	J. BANICKI CONSTRUCTION, INC.			\$0.700	\$2,275.00	-22.2%
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department Estimate		30.000	\$60.000	\$1,800.00	
1	SEMA CONSTRUCTION, INC.			\$20.440	\$613.20	-65.9%
2	FANN CONTRACTING, INC			\$22.000	\$660.00	-63.3%
3	GRANITE CONSTRUCTION COMPANY			\$23.000	\$690.00	-61.7%
4	SHOW LOW CONSTRUCTION, INC.			\$79.810	\$2,394.30	+33.0%
5	W. W. CLYDE & CO.			\$61.000	\$1,830.00	+1.7%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department Estimate		30.000	\$60.000	\$1,800.00	
6	J. BANICKI CONSTRUCTION, INC.			\$27.500	\$825.00	-54.2%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		350.000	\$60.000	\$21,000.00	
1	SEMA CONSTRUCTION, INC.			\$40.880	\$14,308.00	-31.9%
2	FANN CONTRACTING, INC			\$40.000	\$14,000.00	-33.3%
3	GRANITE CONSTRUCTION COMPANY			\$46.000	\$16,100.00	-23.3%
4	SHOW LOW CONSTRUCTION, INC.			\$45.450	\$15,907.50	-24.2%
5	W. W. CLYDE & CO.			\$61.000	\$21,350.00	+1.7%
6	J. BANICKI CONSTRUCTION, INC.			\$43.500	\$15,225.00	-27.5%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		1,500.000	\$60.000	\$90,000.00	
1	SEMA CONSTRUCTION, INC.			\$54.170	\$81,255.00	-9.7%
2	FANN CONTRACTING, INC			\$51.000	\$76,500.00	-15.0%
3	GRANITE CONSTRUCTION COMPANY			\$71.000	\$106,500.00	+18.3%
4	SHOW LOW CONSTRUCTION, INC.			\$46.400	\$69,600.00	-22.7%
5	W. W. CLYDE & CO.			\$92.000	\$138,000.00	+53.3%
6	J. BANICKI CONSTRUCTION, INC.			\$75.000	\$112,500.00	+25.0%
7016081	HOUR	FLAGGING SERVICES (DPS)				
Bid Rank	Department Estimate		400.000	\$105.000	\$42,000.00	
1	SEMA CONSTRUCTION, INC.			\$101.590	\$40,636.00	-3.2%
2	FANN CONTRACTING, INC			\$94.000	\$37,600.00	-10.5%
3	GRANITE CONSTRUCTION COMPANY			\$94.250	\$37,700.00	-10.2%
4	SHOW LOW CONSTRUCTION, INC.			\$127.600	\$51,040.00	+21.5%
5	W. W. CLYDE & CO.			\$97.000	\$38,800.00	-7.6%
6	J. BANICKI CONSTRUCTION, INC.			\$168.000	\$67,200.00	+60.0%
7016082	HOUR	FLAGGING SERVICES (LOCAL ENFORCEMENT OFFICER)(WITH AGENCY VEHICLE)				
Bid Rank	Department Estimate		800.000	\$105.000	\$84,000.00	
1	SEMA CONSTRUCTION, INC.			\$116.270	\$93,016.00	+10.7%
2	FANN CONTRACTING, INC			\$105.000	\$84,000.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$92.000	\$73,600.00	-12.4%
4	SHOW LOW CONSTRUCTION, INC.			\$139.200	\$111,360.00	+32.6%
5	W. W. CLYDE & CO.			\$111.000	\$88,800.00	+5.7%
6	J. BANICKI CONSTRUCTION, INC.			\$170.000	\$136,000.00	+61.9%
7017001	L.SUM	AUTOMATED FLAGGER ASSISTANCE DEVICE (INSTALL & REMOVE)				
Bid Rank	Department Estimate		1.000	\$50,000.000	\$50,000.00	
1	SEMA CONSTRUCTION, INC.			\$2,044.120	\$2,044.12	-95.9%
2	FANN CONTRACTING, INC			\$2,800.000	\$2,800.00	-94.4%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7017001	L.SUM	AUTOMATED FLAGGER ASSISTANCE DEVICE (INSTALL & REMOVE)				
Bid Rank	Department Estimate		1.000	\$50,000.00	\$50,000.00	
3	GRANITE CONSTRUCTION COMPANY			\$2,300.00	\$2,300.00	-95.4%
4	SHOW LOW CONSTRUCTION, INC.			\$2,830.400	\$2,830.40	-94.3%
5	W. W. CLYDE & CO.			\$8,100.000	\$8,100.00	-83.8%
6	J. BANICKI CONSTRUCTION, INC.			\$2,740.000	\$2,740.00	-94.5%
7017005	DAY	AUTOMATED FLAGGER DEVICE (IN USE)				
Bid Rank	Department Estimate		150.000	\$350.000	\$52,500.00	
1	SEMA CONSTRUCTION, INC.			\$204.410	\$30,661.50	-41.6%
2	FANN CONTRACTING, INC			\$135.000	\$20,250.00	-61.4%
3	GRANITE CONSTRUCTION COMPANY			\$230.000	\$34,500.00	-34.3%
4	SHOW LOW CONSTRUCTION, INC.			\$141.520	\$21,228.00	-59.6%
5	W. W. CLYDE & CO.			\$242.000	\$36,300.00	-30.9%
6	J. BANICKI CONSTRUCTION, INC.			\$274.000	\$41,100.00	-21.7%
7017020	L.SUM	TEMPORARY AND PORTABLE TRAFFIC CONTROL SIGNAL (INSTALL & REMOVE)				
Bid Rank	Department Estimate		1.000	\$30,000.000	\$30,000.00	
1	SEMA CONSTRUCTION, INC.			\$2,044.120	\$2,044.12	-93.2%
2	FANN CONTRACTING, INC			\$2,500.000	\$2,500.00	-91.7%
3	GRANITE CONSTRUCTION COMPANY			\$2,300.000	\$2,300.00	-92.3%
4	SHOW LOW CONSTRUCTION, INC.			\$11,275.200	\$11,275.20	-62.4%
5	W. W. CLYDE & CO.			\$7,300.000	\$7,300.00	-75.7%
6	J. BANICKI CONSTRUCTION, INC.			\$2,740.000	\$2,740.00	-90.9%
7017025	DAY	TEMPORARY AND PORTABLE TRAFFIC CONTROL SIGNAL (IN USE)				
Bid Rank	Department Estimate		250.000	\$150.000	\$37,500.00	
1	SEMA CONSTRUCTION, INC.			\$143.090	\$35,772.50	-4.6%
2	FANN CONTRACTING, INC			\$225.000	\$56,250.00	+50.0%
3	GRANITE CONSTRUCTION COMPANY			\$80.500	\$20,125.00	-46.3%
4	SHOW LOW CONSTRUCTION, INC.			\$208.800	\$52,200.00	+39.2%
5	W. W. CLYDE & CO.			\$242.000	\$60,500.00	+61.3%
6	J. BANICKI CONSTRUCTION, INC.			\$95.000	\$23,750.00	-36.7%
7030026	EACH	DELINERATOR ASSEMBLY (FLEXIBLE) (CONCRETE FOUNDATION)				
Bid Rank	Department Estimate		26.000	\$200.000	\$5,200.00	
1	SEMA CONSTRUCTION, INC.			\$139.750	\$3,633.50	-30.1%
2	FANN CONTRACTING, INC			\$150.000	\$3,900.00	-25.0%
3	GRANITE CONSTRUCTION COMPANY			\$79.500	\$2,067.00	-60.3%
4	SHOW LOW CONSTRUCTION, INC.			\$352.000	\$9,152.00	+76.0%
5	W. W. CLYDE & CO.			\$160.000	\$4,160.00	-20.0%
6	J. BANICKI CONSTRUCTION, INC.			\$170.000	\$4,420.00	-15.0%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7030080	EACH	OBJECT MARKER (M-23) (TYPE 3)				
Bid Rank	Department Estimate		20.000	\$500.000	\$10,000.00	
1	SEMA CONSTRUCTION, INC.			\$538.830	\$10,776.60	+7.8%
2	FANN CONTRACTING, INC			\$600.000	\$12,000.00	+20.0%
3	GRANITE CONSTRUCTION COMPANY			\$34.250	\$685.00	-93.2%
4	SHOW LOW CONSTRUCTION, INC.			\$679.360	\$13,587.20	+35.9%
5	W. W. CLYDE & CO.			\$618.000	\$12,360.00	+23.6%
6	J. BANICKI CONSTRUCTION, INC.			\$650.000	\$13,000.00	+30.0%
7030095	EACH	MILEPOST MARKER (S-10)				
Bid Rank	Department Estimate		8.000	\$600.000	\$4,800.00	
1	SEMA CONSTRUCTION, INC.			\$488.680	\$3,909.44	-18.6%
2	FANN CONTRACTING, INC			\$550.000	\$4,400.00	-8.3%
3	GRANITE CONSTRUCTION COMPANY			\$45.000	\$360.00	-92.5%
4	SHOW LOW CONSTRUCTION, INC.			\$616.130	\$4,929.04	+2.7%
5	W. W. CLYDE & CO.			\$560.000	\$4,480.00	-6.7%
6	J. BANICKI CONSTRUCTION, INC.			\$600.000	\$4,800.00	+0.0%
7050031	L.FT.	PAVEMENT MARKING, PREFORMED, TYPE II YELLOW STRIPE				
Bid Rank	Department Estimate		23,500.000	\$4.000	\$94,000.00	
1	SEMA CONSTRUCTION, INC.			\$1.780	\$41,830.00	-55.5%
2	FANN CONTRACTING, INC			\$2.000	\$47,000.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$2.140	\$50,290.00	-46.5%
4	SHOW LOW CONSTRUCTION, INC.			\$1.760	\$41,360.00	-56.0%
5	W. W. CLYDE & CO.			\$2.050	\$48,175.00	-48.8%
6	J. BANICKI CONSTRUCTION, INC.			\$2.500	\$58,750.00	-37.5%
7050032	L.FT.	PAVEMENT MARKING, PREFORMED, TYPE II WHITE STRIPE				
Bid Rank	Department Estimate		23,500.000	\$4.000	\$94,000.00	
1	SEMA CONSTRUCTION, INC.			\$1.780	\$41,830.00	-55.5%
2	FANN CONTRACTING, INC			\$2.000	\$47,000.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$2.140	\$50,290.00	-46.5%
4	SHOW LOW CONSTRUCTION, INC.			\$1.760	\$41,360.00	-56.0%
5	W. W. CLYDE & CO.			\$2.050	\$48,175.00	-48.8%
6	J. BANICKI CONSTRUCTION, INC.			\$2.500	\$58,750.00	-37.5%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		107,400.000	\$0.300	\$32,220.00	
1	SEMA CONSTRUCTION, INC.			\$0.110	\$11,814.00	-63.3%
2	FANN CONTRACTING, INC			\$0.120	\$12,888.00	-60.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.070	\$7,518.00	-76.7%
4	SHOW LOW CONSTRUCTION, INC.			\$0.080	\$8,592.00	-73.3%
5	W. W. CLYDE & CO.			\$0.130	\$13,962.00	-56.7%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		107,400.000	\$0.300	\$32,220.00	
6	J. BANICKI CONSTRUCTION, INC.			\$0.100	\$10,740.00	-66.7%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		30,600.000	\$0.300	\$9,180.00	
1	SEMA CONSTRUCTION, INC.			\$0.110	\$3,366.00	-63.3%
2	FANN CONTRACTING, INC			\$0.120	\$3,672.00	-60.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.070	\$2,142.00	-76.7%
4	SHOW LOW CONSTRUCTION, INC.			\$0.080	\$2,448.00	-73.3%
5	W. W. CLYDE & CO.			\$0.130	\$3,978.00	-56.7%
6	J. BANICKI CONSTRUCTION, INC.			\$0.100	\$3,060.00	-66.7%
7090001	L.FT.	DUAL COMPONENT PAVEMENT MARKING (WHITE EPOXY)				
Bid Rank	Department Estimate		78,900.000	\$1.000	\$78,900.00	
1	SEMA CONSTRUCTION, INC.			\$0.460	\$36,294.00	-54.0%
2	FANN CONTRACTING, INC			\$0.500	\$39,450.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.460	\$36,294.00	-54.0%
4	SHOW LOW CONSTRUCTION, INC.			\$0.520	\$41,028.00	-48.0%
5	W. W. CLYDE & CO.			\$0.520	\$41,028.00	-48.0%
6	J. BANICKI CONSTRUCTION, INC.			\$0.550	\$43,395.00	-45.0%
7090002	L.FT.	DUAL COMPONENT PAVEMENT MARKING (YELLOW EPOXY)				
Bid Rank	Department Estimate		23,000.000	\$1.000	\$23,000.00	
1	SEMA CONSTRUCTION, INC.			\$0.460	\$10,580.00	-54.0%
2	FANN CONTRACTING, INC			\$0.500	\$11,500.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.460	\$10,580.00	-54.0%
4	SHOW LOW CONSTRUCTION, INC.			\$0.520	\$11,960.00	-48.0%
5	W. W. CLYDE & CO.			\$0.520	\$11,960.00	-48.0%
6	J. BANICKI CONSTRUCTION, INC.			\$0.550	\$12,650.00	-45.0%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department Estimate		42.000	\$6,500.000	\$273,000.00	
1	SEMA CONSTRUCTION, INC.			\$6,078.170	\$255,283.14	-6.5%
2	FANN CONTRACTING, INC			\$6,500.000	\$273,000.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$4,653.000	\$195,426.00	-28.4%
4	SHOW LOW CONSTRUCTION, INC.			\$7,357.970	\$309,034.74	+13.2%
5	W. W. CLYDE & CO.			\$5,500.000	\$231,000.00	-15.4%
6	J. BANICKI CONSTRUCTION, INC.			\$7,885.000	\$331,170.00	+21.3%
8101005	CU.YD.	EROSION CONTROL (CHECK DAM) (GRADATION C ROCK MULCH)				
Bid Rank	Department Estimate		1,740.000	\$100.000	\$174,000.00	
1	SEMA CONSTRUCTION, INC.			\$141.560	\$246,314.40	+41.6%
2	FANN CONTRACTING, INC			\$180.000	\$313,200.00	+80.0%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8101005	CU.YD.	EROSION CONTROL (CHECK DAM) (GRADATION C ROCK MULCH)				
Bid Rank	Department Estimate		1,740.000	\$100.000	\$174,000.00	
3	GRANITE CONSTRUCTION COMPANY			\$169.000	\$294,060.00	+69.0%
4	SHOW LOW CONSTRUCTION, INC.			\$100.390	\$174,678.60	+0.4%
5	W. W. CLYDE & CO.			\$95.000	\$165,300.00	-5.0%
6	J. BANICKI CONSTRUCTION, INC.			\$199.000	\$346,260.00	+99.0%
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		1,700.000	\$5.000	\$8,500.00	
1	SEMA CONSTRUCTION, INC.			\$5.530	\$9,401.00	+10.6%
2	FANN CONTRACTING, INC			\$4.500	\$7,650.00	-10.0%
3	GRANITE CONSTRUCTION COMPANY			\$4.500	\$7,650.00	-10.0%
4	SHOW LOW CONSTRUCTION, INC.			\$11.390	\$19,363.00	+127.8%
5	W. W. CLYDE & CO.			\$4.150	\$7,055.00	-17.0%
6	J. BANICKI CONSTRUCTION, INC.			\$5.000	\$8,500.00	+0.0%
8101029	CU.YD.	EROSION CONTROL (ROCK MULCH) (GRADATION C)				
Bid Rank	Department Estimate		102.000	\$300.000	\$30,600.00	
1	SEMA CONSTRUCTION, INC.			\$193.380	\$19,724.76	-35.5%
2	FANN CONTRACTING, INC			\$200.000	\$20,400.00	-33.3%
3	GRANITE CONSTRUCTION COMPANY			\$153.000	\$15,606.00	-49.0%
4	SHOW LOW CONSTRUCTION, INC.			\$180.170	\$18,377.34	-39.9%
5	W. W. CLYDE & CO.			\$88.000	\$8,976.00	-70.7%
6	J. BANICKI CONSTRUCTION, INC.			\$230.000	\$23,460.00	-23.3%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$1,000,000.000	\$1,000,000.00	
1	SEMA CONSTRUCTION, INC.			\$803,235.360	\$803,235.36	-19.7%
2	FANN CONTRACTING, INC			\$860,744.360	\$860,744.36	-13.9%
3	GRANITE CONSTRUCTION COMPANY			\$911,432.950	\$911,432.95	-8.9%
4	SHOW LOW CONSTRUCTION, INC.			\$1,043,918.080	\$1,043,918.08	+4.4%
5	W. W. CLYDE & CO.			\$1,078,151.900	\$1,078,151.90	+7.8%
6	J. BANICKI CONSTRUCTION, INC.			\$245,730.500	\$245,730.50	-75.4%
9130001	CU.YD.	RIPRAP (DUMPED)				
Bid Rank	Department Estimate		348.000	\$250.000	\$87,000.00	
1	SEMA CONSTRUCTION, INC.			\$215.010	\$74,823.48	-14.0%
2	FANN CONTRACTING, INC			\$150.000	\$52,200.00	-40.0%
3	GRANITE CONSTRUCTION COMPANY			\$162.000	\$56,376.00	-35.2%
4	SHOW LOW CONSTRUCTION, INC.			\$237.940	\$82,803.12	-4.8%
5	W. W. CLYDE & CO.			\$163.000	\$56,724.00	-34.8%
6	J. BANICKI CONSTRUCTION, INC.			\$248.000	\$86,304.00	-0.8%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$250,000.000	\$250,000.00	
1	SEMA CONSTRUCTION, INC.			\$67,215.000	\$67,215.00	-73.1%
2	FANN CONTRACTING, INC			\$80,055.000	\$80,055.00	-68.0%
3	GRANITE CONSTRUCTION COMPANY			\$143,000.000	\$143,000.00	-42.8%
4	SHOW LOW CONSTRUCTION, INC.			\$98,600.000	\$98,600.00	-60.6%
5	W. W. CLYDE & CO.			\$220,000.000	\$220,000.00	-12.0%
6	J. BANICKI CONSTRUCTION, INC.			\$112,000.000	\$112,000.00	-55.2%
9240181	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(MANUAL / MECHANICAL METHODS)				
Bid Rank	Department Estimate		92,000.000	\$0.800	\$73,600.00	
1	SEMA CONSTRUCTION, INC.			\$0.530	\$48,760.00	-33.8%
2	FANN CONTRACTING, INC			\$0.550	\$50,600.00	-31.2%
3	GRANITE CONSTRUCTION COMPANY			\$0.530	\$48,760.00	-33.8%
4	SHOW LOW CONSTRUCTION, INC.			\$0.580	\$53,360.00	-27.5%
5	W. W. CLYDE & CO.			\$0.350	\$32,200.00	-56.3%
6	J. BANICKI CONSTRUCTION, INC.			\$0.620	\$57,040.00	-22.5%
9240182	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(HERBICIDE)				
Bid Rank	Department Estimate		112,000.000	\$0.650	\$72,800.00	
1	SEMA CONSTRUCTION, INC.			\$0.470	\$52,640.00	-27.7%
2	FANN CONTRACTING, INC			\$0.500	\$56,000.00	-23.1%
3	GRANITE CONSTRUCTION COMPANY			\$0.480	\$53,760.00	-26.2%
4	SHOW LOW CONSTRUCTION, INC.			\$0.520	\$58,240.00	-20.0%
5	W. W. CLYDE & CO.			\$0.100	\$11,200.00	-84.6%
6	J. BANICKI CONSTRUCTION, INC.			\$0.550	\$61,600.00	-15.4%
9240900	L.SUM	AVOIDANCE AREA PROTECTION PLAN AND MONITORING				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	SEMA CONSTRUCTION, INC.			\$6,119.590	\$6,119.59	-38.8%
2	FANN CONTRACTING, INC			\$7,000.000	\$7,000.00	-30.0%
3	GRANITE CONSTRUCTION COMPANY			\$2,700.000	\$2,700.00	-73.0%
4	SHOW LOW CONSTRUCTION, INC.			\$5,800.000	\$5,800.00	-42.0%
5	W. W. CLYDE & CO.			\$11,600.000	\$11,600.00	+16.0%
6	J. BANICKI CONSTRUCTION, INC.			\$7,000.000	\$7,000.00	-30.0%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$200,000.000	\$200,000.00	
1	SEMA CONSTRUCTION, INC.			\$110,000.000	\$110,000.00	-45.0%
2	FANN CONTRACTING, INC			\$95,000.000	\$95,000.00	-52.5%
3	GRANITE CONSTRUCTION COMPANY			\$72,000.000	\$72,000.00	-64.0%
4	SHOW LOW CONSTRUCTION, INC.			\$133,400.000	\$133,400.00	-33.3%
5	W. W. CLYDE & CO.			\$110,000.000	\$110,000.00	-45.0%

*** Bid Tabs for Proposal Pamphlet 2024082 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$200,000.000	\$200,000.00	
6	J. BANICKI CONSTRUCTION, INC.			\$217,800.000	\$217,800.00	+8.9%
9280034	L.FT.	GROUND-IN RUMBLE STRIP (6 INCH)				
Bid Rank	Department Estimate		15,300.000	\$0.400	\$6,120.00	
1	SEMA CONSTRUCTION, INC.			\$0.180	\$2,754.00	-55.0%
2	FANN CONTRACTING, INC			\$0.250	\$3,825.00	-37.5%
3	GRANITE CONSTRUCTION COMPANY			\$0.190	\$2,907.00	-52.5%
4	SHOW LOW CONSTRUCTION, INC.			\$0.200	\$3,060.00	-50.0%
5	W. W. CLYDE & CO.			\$0.400	\$6,120.00	+0.0%
6	J. BANICKI CONSTRUCTION, INC.			\$0.200	\$3,060.00	-50.0%
9280036	L.FT.	GROUND-IN RUMBLE STRIP (8 INCH)				
Bid Rank	Department Estimate		39,000.000	\$0.400	\$15,600.00	
1	SEMA CONSTRUCTION, INC.			\$0.200	\$7,800.00	-50.0%
2	FANN CONTRACTING, INC			\$0.260	\$10,140.00	-35.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.220	\$8,580.00	-45.0%
4	SHOW LOW CONSTRUCTION, INC.			\$0.310	\$12,090.00	-22.5%
5	W. W. CLYDE & CO.			\$0.400	\$15,600.00	+0.0%
6	J. BANICKI CONSTRUCTION, INC.			\$0.250	\$9,750.00	-37.5%